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19.10.20 1 1 1 |kopugop 47 4,7 2,54
2 |caHysen 4,2 4,2 )
3 |kyxHs 8,3 8,3 "
4 |xunas 15,8 15,8 !
Utoro no kBaptupe 1 33,0 15,8 17,2
noaXxms 4,2 2,1 |k=0,5
1 2 1 |xopugop 2,8 2,8 2,54
2 |xunas 12,2 12,2 !
3 [kyxHs 8,7 8,7 i
4 |kopuaop 4,3 4,3 "
5 |opuaop 33 3,3 "
6 |tyaner 1,0 1,0 "
7 |BaHHas 2,6 2,6 "
8 Pxunas 16,4 16,4 )
9 |xwunas 16,5 16,5 !
10 |rapoepo6Hast 8,6 8,6 )
11 |caHysen 1,4 1,4 !
12 |kopuoop 5,5 5,5 )
Utoro no kBapTupe 2 83,3 45,1 38,2
oAU 4.2 2,1 |k=0,5
NoaXns 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
1 3 1 |kopuaop 43 4,3 2,54
2 |xunas 16,5 16,5 !
3 |xwunas 12,1 12,1 !
4  |xunas 12,1 12,1 !
5  |KyxHs 8,7 8,7 !
6 |Tyanet 1,0 1,0 !
7 |BaHHas 2,6 2,6 !
8 [kopumop 3.4 3,4 !
9 |kopugop 43 4,3 "
UTtoro no kBapTtupe 3 65,0 40,7 24,3
noaxus 3,3 1,7 |k=0,5
nogxus 3,3 1,7 |k=0,5
1 4 1 |kopugop 3,9 3,9 2,54
2 |caHysen 3,1 3,1 "
3 |kyxHs 8,6 8,6 !
4 |xunas 16,6 16,6 "
Wrtoro no kBapTtupe 4 32,2 16,6 15,6
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oAU 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
1 5 1 |xopugop 4,2 4,2 2,54
2 |xunas 12,0 12,0 !
3 |kyxHs 8,8 8,8 '
4 |tyanet 1,0 1,0 )
5 |BaHHasa 2,6 2,6 !
6 |kopuaop 3,3 33 n
7 |kvnas 18,7 18,7 .
Wtoro no kBaptupe 5 50,6 30,7 19,9
NnoaXms 4.7 2,4 |k=0,5
1 6 1 |kopugop 4,8 4,8 2,54
2 |xwvnas 15,8 15,8 "
3 |KyxHs 8,3 8,3 !
4 |caHysen 4,2 4,2 m
Utoro no kBapTupe 6 33,1 15,8 17,3
nooxus 4,7 2,4 |k=0,5
1 63 1 |kopugop 4,8 4,8 2,54
2 |caHysen 4,2 4,2 "
3 |kyxns 8,3 8,3 !
4 |xunas 15,8 15,8 !
WUtoro no kBaptupe 63 33,1 15,8 17,3
NoaXns 4,2 2,1 |k=0,5
1 64 1 |kopugop 2,8 2,8 2,54
2 |KyxHs 12,0 12,0 i
3 |kopuaop 4,3 43 "
4 |caHysen 2.1 21 m
5 |kopuaop 1,7 1,7 "
6 |caHysen 2,6 2,6 i
7 |xunas 16,5 16,5 '
8 Pxunas 16,5 16,5 )
9 |rapaepo6bHas 8,5 8,5 !
10 [BaHHasA 1,4 1,4 m
11 |kopuaop 5,5 5,5 !
Utoro no kBaptupe 64 73,9 33,0 40,9
NoaXns 4,2 2,1 |k=0,5
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 |k=0,5
1 65 1 |kopugop 4,3 4,3 2,54
2 |xwunas 16,6 16,6 )
3 |xwunas 12,0 12,0 !
4 |cTonogas 12,0 12,0 !
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5  |KyxHs 8,8 8,8 "
6 |Tyanet 1,0 1,0 !
7 |Bannas 2,6 2,6 "
8 [kopumop 3,3 3,3 !
9 |xopugop 4,3 43 "
WUTtoro no kBaptupe 65 64,9 28,6 36,3
oAU 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
1 66 | 1 |kopugoop 4,0 4,0 2,54
2 |caHysen 3,2 3,2 "
3 |KyxHs 8,6 8,6 !
4 |xunas 16,4 16,4 m
UTtoro no kBaptupe 66 32,2 16,4 15,8
noaxus 3,3 1,7 |k=0,5
noaXxms 3,3 1,7 |k=0,5
1 67 1 |kopugop 4,3 4,3 2,54
2 |xunas 12,1 12,1 !
3 |KyxHs 8,7 8,7 !
4 |tyanet 1,0 1,0 "
5 |BaHHas 2,6 2,6 !
6 |kopupop 3,3 33 .
7 Pkunas 18,7 18,7 "
WUtoro no kBaptupe 67 50,7 30,8 19,9
nooxms 4,7 2,4 |«=0,5
1 68 1 |kopugop 4,8 4,8 2,54
2 |xunas 15,8 15,8 )
3 |KkyxHs 8,2 8,2 !
4 |caHysen 4,2 4,2 m
UTtoro no kBaptupe 68 33,0 15,8 17,2
nooxus 4,7 2,4 |k=0,5
WTtoro no 1 ataxy 585,0 305,1 | 279,9 75,2 38,4
2 7 1 |kopugop 4,8 4,8 2,63
2 |caHnysen 4,1 4,1 m
3 |KyxHs 8,4 8,4 !
4 |xunas 15,8 15,8 )
UTtoro no kBapTtupe 7 33,1 15,8 17,3
NoAXuUsA 4.2 2,1 |k=0,5
2 8 1 |xopugop 4,3 4,3 2,63
2 |xunas 12,1 12,1 i
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3 |KkyxHsa 8,7 8,7 -
4 |ryanet 1,0 1,0 )
5 |BaHHasa 2,6 2,6 !
6 |xopupop 3,3 3,3 "
7 |xunasa 16,4 16,4 m
WTtoro no ksapTtupe 8 48,4 28,5 19,9
oAU 4.2 2,1 |k=0,5
2 9 1 |kopugop 4,0 4,0 2,63
2 |xunas 16,6 16,6 i
3 [kyxHs 8,6 8,6 "
4 |caHysen 3,2 3,2 m
Wtoro no kBaptupe 9 32,4 16,6 15,8
noaXxms 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
2 10 1 |kopugop 4,2 4,2 2,63
2 |xunas 16,5 16,5 !
3 |xwunas 12,1 12,1 !
4 |xunas 121 12,1 "
5 |kyxHs 8,8 8,8 !
6 |Tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopuaop 34 3,4 "
9 |kopugop 4,2 4,2 "
UTtoro no kBaptupe 10 64,9 40,7 24,2
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 |k=0,5
2 11 1 |kopugop 4,0 4,0 2,63
2 |caHysen 3,1 3,1 "
3 |KkyxHs 8,6 8,6 !
4 |xunas 16,6 16,6 )
WTtoro no kBaptupe 11 32,3 16,6 15,7
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 | k=0,5
2 12 1 |kopugop 4,2 4,2 2,63
2  |xunas 12,0 12,0 )
3 |KkyxHsa 8.7 8,7 m
4 |tyanet 1,0 1,0 "
5 |BaHHas 2,6 2,6 "
6 |kopugop 3,4 3,4 "
7 |xunas 18,7 18,7 m
Wtoro no kBaptupe 12 50,6 30,7 19,9
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noaxuns 4,7 2,4 |k=0,5
2 13 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 "
3 |KyxHs 8,3 8,3 "
4 |caHysen 4,2 4,2 .
WTtoro no kBaptupe 13 33,1 15,8 17,3
nooxms 4.7 2,4 |k=0,5
2 69 1 |kopugop 4,8 4,8 2,63
2 |caHnysen 4,2 4,2 m
3 |KyxHs 8,2 8,2 !
4 |xunas 15,8 15,8 )
UTtoro no kBaptupe 69 33,0 15,8 17,2
oAU 4.2 2,1 |k=0,5
2 70 1 |kopugop 4,2 4,2 2,63
2 |xunas 121 12,1 i
3 |kyxHs 8,7 8,7 "
4 |ryanet 1,0 1,0 )
5 |BaHHasg 2,6 2,6 !
6 |kopuaop 3,4 34 "
7 |xunas 16,4 16,4 .
WUTtoro no kBaptupe 70 48,4 28,5 19,9
oAU 4.2 2,1 |k=0,5
2 71 1 |kopugop 4,0 4,0 2,63
2 |xunas 16,6 16,6 i
3 |KyxHs 8,5 8,5 ’
4 |caHysen 3,1 31 m
Utoro no kBaptupe 71 32,2 16,6 15,6
NoaXns 3,3 1,7 | k=0,5
noaxus 3,3 1,7 |k=0,5
2 72 1 |kopugop 4,3 4,3 2,63
2 |xunas 16,6 16,6 "
3 |xwunas 12,1 12,1 !
4 |ctonosas 12,1 12,1 !
5 |kyxns 8,8 8,8 !
6 |tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopugop 3,3 3,3 !
9 [ropunop 4,3 43 "
WTtoro no kBaptupe 72 65,1 40,8 24,3
noaxus 3,3 1,7 |k=0,5
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oAU 3,3 1,7 |k=0,5
2 73 1 |kopugop 4,0 4,0 2,63
2 |canysen 3,2 3,2 !
3 |KyxHs 8,5 8,5 "
4 |xunas 16,6 16,6 "
WTtoro no kBaptupe 73 32,3 16,6 15,7
noaxus 3,3 1,7 |k=0,5
oAU 3,3 1,7 |k=0,5
2 74 1 |kopugop 2.8 2,8 2,63
2 |kopupop 4,3 43 m
3  |xunas 12,1 12,1 !
4 |KyxHs 8,7 8,7 "
5 |tyaner 1,0 1,0 "
6 |BaHHas 2,6 2,6 !
7 |kopuoop 3,3 3,3 .
8 |xunas 18,7 18,7 .
Utoro no kBaptupe 74 53,5 30,8 22,7
nooxms 4,7 2,4 |«=0,5
2 75 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |KkyxHs 8,3 8,3 !
4 |caHysen 4,2 4,2 m
WUTtoro no kBaptupe 75 33,1 15,8 17,3
oAU 4.7 2,4 |k=0,5
UTtoro no 2 ataxy 592,4 329,6 262,8 75,2 38,4
3 14 1 |kopugop 4.8 4,8 2,63
2 |caHysen 4,1 4,1 "
3 |KyxHs 8,4 8,4 !
4 |xunas 15,8 15,8 )
WUtoro no kBaptupe 14 33,1 15,8 17,3
NoaXns 4,2 2,1 |k=0,5
3 15 1 |kopugop 43 4,3 2,63
2 |xunas 12,1 12,1 !
3 [kyxus 8,7 8,7 i
4 |tyanet 1,0 1,0 "
5 |BaHHasa 2,6 2,6 !
6 |kopuoop 3,3 33 .
7 Pkunas 16,4 16,4 !
WUtoro no kBaptupe 15 48,4 28,5 19,9
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oAU 4.2 2,1 |k=0,5
3 16 1 |kopugop 4,0 4,0 2,63
2  |xunas 16,6 16,6 )
3 |kyxHs 8,6 8,6 "
4 |caHysen 3,2 3,2 "
WTtoro no kBaptupe 16 32,4 16,6 15,8
Noaxus 3,3 1,7 |k=0,5
oAU 3,3 1,7 |k=0,5
3 17 1 |kopugop 4,2 4,2 2,63
2 |xunas 16,6 16,6 !
3 |xwunas 12,1 12,1 !
4 |xunas 121 12,1 "
5 |KyxHs 8,8 8,8 !
6 |Tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopuaop 34 3,4 .
9 |kopugop 4,2 4,2 "
UTtoro no kBaptupe 17 65,0 40,8 24,2
nooxus 3,3 1,7 |k=0,5
NnoaXxms 3,3 1,7 |k=0,5
3 18 1 |kopugop 4,0 4,0 2,63
2 |caHysen 3,1 3,1 "
3 |KkyxHs 8,6 8,6 !
4 |xunas 16,6 16,6 )
WUTtoro no kBaptupe 18 32,3 16,6 15,7
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 |k=0,5
3 19 1 |kopugop 4,2 4,2 2,63
2  Pxunas 12,0 12,0 )
3 [xyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 "
5 |BaHHas 2,6 2,6 "
6 |xopugop 3,4 3,4 "
7 |xunas 18,7 18,7 m
Utoro no kBaptupe 19 50,6 30,7 19,9
nogoxusa 4,7 2,4 |k=0,5
3 20 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |KyxHs 8,3 8,3 "
4 |caHysen 4,2 4,2 m
WTtoro no kBaptupe 20 33,1 15,8 17,3
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nooxms 4.7 2,4 |k=0,5
3 76 1 |kopugop 4,8 4,8 2,63
2 |canysen 4,2 4,2 !
3 |kyxns 8,2 8,2 !
4 |xunas 15,8 15,8 !
WUTtoro no kBaptupe 76 33,0 15,8 17,2
oAU 4.2 2,1 |k=0,5
3 77 1 |kopugop 4,2 4,2 2,63
2 |xunas 121 12,1 i
3 |kyxHs 8,7 8,7 "
4 |ryaner 1,0 1,0 )
5 |BaHHasg 2,6 2,6 !
6 |kopuaop 3,4 3.4 .
7 Pxunas 16,4 16,4 "
UTtoro no kBaptupe 77 48,4 28,5 19,9
oAU 4.2 2,1 |k=0,5
3 78 1 |kopugop 4,0 4,0 2,63
2 |xunas 16,6 16,6 i
3 |kyxHs 8,5 8,5 "
4 |caHysen 3,1 3,1 "
Utoro no kBaptupe 78 32,2 16,6 15,6
NoaXns 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
3 79 1 |kopugop 4,3 4,3 2,63
2 |xwunas 16,6 16,6 !
3 |xwunas 12,1 12,1 !
4 |cTonoBas 12,1 12,1 !
5 |kyxHs 8,8 8,8 !
6 |tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopugop 3,3 3,3 !
9 |kopugop 43 4,3 "
WTtoro no kBaptupe 79 65,1 40,8 24,3
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 | k=0,5
3 80 1 |kopugop 4,0 4,0 2,63
2 |caHysen 3,2 3,2 "
3 |KyxHs 8,5 8,5 "
4 |xunas 16,6 16,6 )
WTtoro no kBaptupe 80 32,3 16,6 15,7
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noaxus 3,3 1,7 |k=0,5
oAU 3,3 1,7 |k=0,5
3 81 1 |kopugop 2.8 2,8 2,63
2 |xopupop 4,3 43 "
3  |xkunas 12,1 12,1 !
4 |KyxHs 8,7 8,7 "
5 |rtyanet 1,0 1,0 "
6 |BaHHasa 2,6 2,6 !
7 |xopupop 3,3 3,3 m
8 |xunas 18,7 18,7 .
Utoro no kBaptupe 81 53,5 30,8 22,7
nooxms 4,7 2,4 |«=0,5
3 82 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 "
3 |KyxHs 8,3 8,3 !
4 |caHysen 4,2 4,2 m
UTtoro no kBaptupe 82 33,1 15,8 17,3
nooxus 4,7 2,4 |k=0,5
Utoro no 3 ataxy 592,5 329,7 262,8 75,2 38,4
4 21 1 |kopugop 4.8 4,8 2,63
2 |caHysen 4,2 4,2 "
3 |kyxns 8,3 8,3 !
4 |xunas 15,8 15,8 !
Utoro no kBaptupe 21 33,1 15,8 17,3
NoaXns 4,2 2,1 |k=0,5
4 22 1 |kopugop 43 4,3 2,63
2 |xunas 12,1 12,1 !
3 |kyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 "
5 |BaHHasa 2,6 2,6 !
6 |kopuoop 3,3 33 .
7 Pkunas 16,4 16,4 "
Utoro no kBaptupe 22 48,4 28,5 19,9
NoaXns 4,2 2,1 |k=0,5
4 23 1 |kopugop 4,0 4,0 2,63
2 |xunas 16,6 16,6 )
3 |kyxHs 8,5 8,5 )
4 |caHysen 3,1 31 .
WTtoro no kBaptupe 23 32,2 16,6 15,6
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oAU 3,3 1,7 |k=0,5
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WUtoro no kBaptupe 39 32,4 16,6 15,8
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2 |xunas 16,6 16,6 !
3 |kyxHs 8,5 8,5 '
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7 |BaHHas 2,6 2,6 !
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WTtoro no 6 ataxy 592,5 329.,4 263,1 75,2 38,4
7 42 1 |kopugop 4,8 4,8 2,63
2 |canysen 4,2 4,2 "
3 |kyxns 8,3 8,3 !
4 |xunas 15,8 15,8 !
UTtoro no kBaptupe 42 33,1 15,8 17,3
oAU 4.2 2,1 |k=0,5
7 43 1 |kopugop 43 4,3 2,63
2 |xunas 121 12,1 i
3 |KyxHs 8,7 8,7 "
4 |ryaner 1,0 1,0 )
5 |BaHHasg 2,6 2,6 !
6 |kopuaop 3,3 3.3 .
7 |kunas 16,4 16,4 .
WUTtoro no kBaptupe 43 48,4 28,5 19,9
oAU 4.2 2,1 |k=0,5
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6 |tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopugop 3,3 3,3 !
9 [ropuaop 4,3 43 "
Wtoro no kBapTtupe 45 64,9 40,7 24,2
noaxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 | k=0,5
7 46 1 |kopugop 4,0 4,0 2,63
2 |caHysen 3,2 3,2 "
3 |KyxHs 8,6 8,6 "
4 |xunas 16,6 16,6 )
WToro no kBapTtupe 46 32,4 16,6 15,8
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noaxus 3,3 1,7 |k=0,5
oAU 3,3 1,7 |k=0,5
7 47 1 |kopugop 43 4,3 2,63
2 |xunas 12,0 12,0 )
3 |KyxHs 8,7 8,7 "
4 |ryanet 1,0 1,0 )
5 |BaHHasa 2,6 2,6 !
6 |kopugop 3,3 3,3 !
7 |xunas 18,7 18,7 "
UTtoro no kBaptupe 47 50,6 30,7 19,9
noaxus 4,7 2,4 |k=0,5
7 48 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |KyxHs 8,2 8,2 "
4 |caHysen 4,2 4,2 .
Utoro no kBaptupe 48 33,0 15,8 17,2
NnoaXxms 4.7 2,4 |k=0,5
7 104 1 [kopugop 4,9 4,9 2,63
2 |caHnysen 4,2 4,2 m
3 |kyxHs 8,3 8,3 "
4 |xunas 15,8 15,8 )
Utoro no kBapTtupe 104 33,2 15,8 17,4
oAU 4.2 2,1 |k=0,5
7 105 1 |kopugop 4,3 4,3 2,63
2 |xunas 121 12,1 i
3 |KyxHs 8,8 8,8 ’
4 |tyanet 1,0 1,0 )
5 |BaHHasg 2,6 2,6 !
6 |kopuaop 3,4 3,4 m
7 |xvnas 16,4 16,4 .
UTtoro no kBapTtupe 105 48,6 28,5 20,1
NoAXuUsA 4.2 2,1 |k=0,5
7 106 1 |kopugop 4,0 4,0 2,63
2 |xunas 16,6 16,6 '
3 |KyxHs 8,5 8,5 !
4 |caHysen 3,1 3,1 m
Utoro no kBaptupe 106 32,2 16,6 15,6
NoaXns 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
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7 107 1 [kopuaop 4.3 4,3 2,63
2 |xwunas 16,6 16,6 !
3 [xunas 12,1 12,1 !
4 |cTonosas 12,1 12,1 !
5 |kyxns 8,8 8,8 !
6 |tyanet 1,0 1,0 "
7 |BaHHas 2,6 2,6 !
8 |kopugop 3,3 3,3 !
9 |xopugop 4,3 43 "
Utoro no kBapTtupe 107 65,1 40,8 24,3
NnoaXms 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
7 108| 1 |kopuaop 4,0 4,0 2,63
2 |canysen 3,2 3,2 !
3 |kyxus 8,5 8,5 !
4 |xunas 16,6 16,6 "
Utoro no keaptupe 108 32,3 16,6 15,7
noaXxms 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
7 109 1 |kopugop 2,8 2,8 2,63
2 |kopupop 4,3 43 m
3  |xunas 12,1 12,1 !
4 |KyxHs 8,7 8,7 "
5 [|ryanet 1,0 1,0 "
6 |BaHHas 2,6 2,6 !
7 |xopupop 3,3 33 .
8 |xunas 18,6 18,6 i
Utoro no kBaptupe 109 53,4 30,7 22,7
nooxms 4,7 2,4 |«=0,5
7 110| 1 |[kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |KyxHs 8,3 8,3 "
4 |caHysen 4,2 4,2 m
Utoro no kBapTtupe 110 33,1 15,8 17,3
NoAXuUsA 4.7 2,4 |k=0,5
UTtoro no 7 ataxy 592,6 329,5 | 263,1 75,2 38,4
8 49 1 |kopugop 4.8 4,8 2,63
2 |caHysen 4,2 4,2 m
3 |KyxHs 8,4 8,4 !
4  |xwunas 15,8 15,8 !
WUtoro no kBaptupe 49 33,2 15,8 17,4
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nooxms 4,2 2,1 |k=0,5
8 50 1 |xopugop 43 4,3 2,63
2 |xunas 12,1 12,1 !
3 |kyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 )
5 |BaHHasa 2,6 2,6 !
6 |kopuaop 3,3 33 n
7 |xunas 16,4 16,4 i
Utoro no kBaptupe 50 48,4 28,5 19,9
NnoaXms 4,2 2,1 |k=0,5
8 51 1 |kopugop 4,1 4,1 2,63
2 |xwunasq 16,6 16,6 )
3 |kyxHs 8,6 8,6 )
4 |caHysen 3,1 3,1 .
UTtoro no kBaptupe 51 32,4 16,6 15,8
nooxus 3,3 1,7 |k=0,5
noaXxms 3,3 1,7 |k=0,5
8 52 1 |kopugop 4,2 4,2 2,63
2 |xwunas 16,6 16,6 !
3 |xwvnas 12,0 12,0 !
4 |xunas 12,1 12,1 !
5 |kyxHs 8,8 8,8 !
6 |tyaner 1,0 1,0 "
7 |BanHas 2,6 2,6 !
8 |kopupop 34 3,4 .
9 _|xopuaop 4,3 4,3 "
Utoro no kBaptupe 52 65,0 40,7 24,3
NoaXns 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
8 53 1 |kopugop 4,0 4,0 2,63
2 |canysen 3,2 3,2 !
3 |kyxns 8,6 8,6 !
4 |xunas 16,6 16,6 )
WUtoro no kBaptupe 53 32,4 16,6 15,8
NoaXns 3,3 1,7 | k=0,5
nooxus 3,3 1,7 |k=0,5
8 54 1 |kopugop 4,3 4,3 2,63
2 |xunas 121 12,1 '
3 |kyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 )
5 |BaHHas 2,6 2,6 !
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6 |kopuaop 3,3 33 "
7 |xunas 18,6 18,6 )
WUTtoro no kBaptupe 54 50,6 30,7 19,9
nooxms 4.7 2,4 |k=0,5
8 55 1 |kopugop 4,8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |kyxns 8,3 8,3 !
4 |caHysen 4,2 4,2 M
WTtoro no kBaptupe 55 33,1 15,8 17,3
nooxus 4,7 2,4 |k=0,5
8 111 1 |kopuaop 4,8 4,8 2,63
2 |caHysen 4,2 4,2 .
3 |kyxus 8,3 8,3 !
4 |xunas 15,8 15,8 "
Wtoro no keaptupe 111 33,1 15,8 17,3
NnoaXms 4,2 2,1 |k=0,5
8 1121 1 |kopugop 43 4,3 2,63
2 |xunas 12,1 12,1 !
3 |kyxHs 8,7 8,7 "
4 |ryanet 1,0 1,0 -
5 |BaHHas 2,6 2,6 !
6 |kopugop 3,4 3,4 "
7 |xunas 16,5 16,5 i
Wtoro no kBaptupe 112 48,6 28,6 20,0
NoaXns 4,2 2,1 |k=0,5
8 113 1 |kopugop 4,0 4,0 2,63
2  |xunasa 16,6 16,6 )
3 |kyxHs 8,5 8,5 )
4 |caHysen 3,1 31 .
Wrtoro no kBaptupe 113 32,2 16,6 15,6
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 | k=0,5
8 114 1 [kopugop 4,3 4,3 2,63
2 |xwunas 16,6 16,6 !
3 |xwunas 12,1 12,1 !
4 |cTonosas 12,1 12,1 !
5 |kyxHs 8,8 8,8 !
6 |tyaner 1,0 1,0 !
7 |Bannas 2,6 2,6 "
8 |kopumop 3,3 3,3 !
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9 |xopugop 4,3 43 "
WTtoro no kBaptupe 114 65,1 40,8 24,3
oAU 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
8 115] 1 [kopuaop 4.0 4,0 2,63
2 |caHysen 3,1 3,1 "
3 |kyxns 8,5 8,5 !
4 |xunas 16,6 16,6 !
WTtoro no kBaptupe 115 32,2 16,6 15,6
nooxus 3,3 1,7 |k=0,5
noaXxms 3,3 1,7 |k=0,5
8 116 1 |kopugop 2,9 2,9 2,63
2 |kopupop 4,2 4,2 m
3  Pkunas 12,0 12,0 i
4 |KyxHs 8,7 8,7 "
5 [|ryanet 1,0 1,0 "
6 |BaHHag 2,6 2,6 !
7 |kopugop 3,3 3,3 "
8 |xunas 18,7 18,7 n
Utoro no kBapTtupe 116 53,4 30,7 22,7
nooxus 4,7 2,4 |k=0,5
8 117 1 |kopuaop 4.8 4,8 2,63
2 |xwunas 15,8 15,8 !
3 |kyxns 8,3 8,3 !
4 |caHysen 4,2 4,2 "
Wtoro no kBaptupe 117 33,1 15,8 17,3
nooxms 4,7 2,4 |«=0,5
UTtoro no 8 ataxy 592.8 329,6 263,2 75,2 38,4
9 56 1 |kopugop 4,8 4,8 2,63
2 |caHnysen 4,2 4,2 m
3 |KyxHs 8,4 8,4 !
4 |xunas 15,8 15,8 )
WTtoro no kBaptupe 56 33,2 15,8 17,4
nooxus 4,2 2,1 |k=0,5
9 57 1 |kopugop 4,3 4,3 2,63
2 |xunas 121 12,1 '
3 |kyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 )
5 |BaHHas 2,6 2,6 !
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6 |kopuaop 3,3 33 "
7 |xunas 16,4 16,4 "
WUTtoro no kBaptupe 57 48,4 28,5 19,9
noaxus 4,2 2,1 |k=0,5
9 58 1 |xopugop 41 41 2,63
2 |xunas 16,6 16,6 !
3 |kyxHs 8,6 8,6 '
4 |caHysen 3,1 3,1 m
UTtoro no kBaptupe 58 32,4 16,6 15,8
noaxus 3,3 1,7 |k=0,5
NnoaXxms 3,3 1,7 |k=0,5
9 59 1 |kopugop 4,2 4,2 2,63
2 |xunas 16,6 16,6 )
3 |xwvnas 12,0 12,0 !
4 |xunas 12,1 12,1 !
5 |KkyxHs 8,8 8,8 !
6 |tyaner 1,0 1,0 !
7 |BaHHas 2,6 2,6 !
8 |kopuoop 3.4 3,4 .
9 _|opnaop 4,3 4,3 "
Utoro no kBaptupe 59 65,0 40,7 24,3
NoaXns 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
9 60 1 |kopugop 4,0 4,0 2,63
2 |canysen 3,2 3,2 !
3 |kyxns 8,6 8,6 !
4 |xunas 16,6 16,6 !
Utoro no kBaptupe 60 32,4 16,6 15,8
nogxus 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
9 61 1 |kopugop 4,3 4,3 2,63
2 |xunas 121 12,1 '
3 |kyxHs 8,7 8,7 "
4 [|ryanet 1,0 1,0 )
5 |BaHHas 2,6 2,6 !
6 |kopuaop 3,3 3,3 m
7 |xunas 18,6 18,6 )
WTtoro no kBaptupe 61 50,6 30,7 19,9
NoAXuUsA 4.7 2,4 |k=0,5
9 62 1 |kopugop 4,8 4,8 2,63




O6uana nnowags,

Q é— % g E:[ o =
é % . E KB.M, B TOM YuChe: g’ = = é o < o E 3
& o o = (s} Is s 3° S84 $8
= g 8% 4 o ot o= g2 3~ 28 =z 2
= ® 3 K x Hasnayenve xunoro o 5« I c If2 28 cg_ 7 S8 s qa,_o
> x s o > . © s = Q9 3 - E2F% 28¢= © o
= % © g E ? - NnoMeLleHUs: XXunas =l é % 8 w = 8 g. & @ & % o ® 3 o * % g >
= ) o & T 3  KyxHs, KOPUIOP U 2 & 68 ofXf2 oIXIc ow 2§ gls =S 3 3
S C E®8 E& = = =8 | =4 S8 IJ 8d8m ® . = E 2
= @x t I .M. w s ©3 ©s TS50 2o 2o g8 B8 =
g S o3 & % S5 ©g ©C2EgE 5 28c F 38
. L - S T A A & - 25
I‘:“[ b4 (@) !53) N CE_ S © é[ 8 m F
2 |xunas 15,8 15,8 !
3 |kyxns 8,3 8,3 !
4 |caHysen 4,2 4,2 M
UTtoro no kBaptupe 62 33,1 15,8 17,3
nooxms 4,7 2,4 |k=0,5
9 118 1 |kopuaop 4,8 4,8 2,63
2 |caHysen 4,2 4,2 .
3 |KyxHs 8,3 8,3 "
4 |xunas 15,8 15,8 "
Wtoro no kBaptupe 118 33,1 15,8 17,3
noaxus 4,2 2,1 |k=0,5
9 119 1 |kopugop 43 4,3 2,63
2 |xunas 12,1 12,1 !
3 |kyxHs 8,7 8,7 "
4 |tyanet 1,0 1,0 "
5 |BaHHas 2,6 2,6 !
6 |kopuaop 3,4 34 .
7 |xunas 16,5 16,5 i
Wtoro no kBaptupe 119 48,6 28,6 20,0
NoaXns 4,2 2,1 |k=0,5
9 120 1 |kopugop 4,0 4,0 2,63
2  |xunasa 16,6 16,6 )
3 |kyxHs 8,5 8,5 )
4 |caHysen 3,1 31 .
WTtoro no kBaptupe 120 32,2 16,6 15,6
nooxus 3,3 1,7 |k=0,5
NoaXns 3,3 1,7 |k=0,5
9 121 1 |[kopugop 4,3 4,3 2,63
2 |xwunas 16,6 16,6 !
3 |xwunas 12,1 12,1 !
4 |cTonoeas 12,1 12,1 !
5 |KyxHs 8,8 8,8 "
6 |tyaner 1,0 1,0 "
7 |Bannas 2,6 2,6 !
8 [kopumop 3,3 3,3 !
9 __|opuaop 4,3 4,3 "
Wtoro no kBaptupe 121 65,1 40,8 24,3
NoaXns 3,3 1,7 |k=0,5
nooxus 3,3 1,7 |k=0,5
9 122 1 |kopuaop 3,9 3,9 2,63
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2 |caHysen 3,2 3,2 "
3 |kyxns 8,5 8,5 !
4 |xunas 16,6 16,6 !
Utoro no kBapTtupe 122 32,2 16,6 15,6
oAU 3,3 1,7 |k=0,5
noaxus 3,3 1,7 |k=0,5
9 123 1 |[kopuaop 2,9 2,9 2,63
2 |kopugop 4,2 4,2 )
3 |xunas 12,0 12,0 )
4 |KyxHS 8,7 8,7 "
5 |tyanet 1,1 1,1 "
6 |BaHHas 2,8 2,8 "
7 |xopupop 34 34 "
8 [xwunas 18,7 18,7 )
WUtoro no kBapTtupe 123 53,8 30,7 23,1
oAU 4.7 2,4 |k=0,5
9 1241 1 |kopuaop 4,8 4,8 2,63
2 |xunas 15,8 15,8 !
3 |kyxus 8,3 8,3 !
4 |caHysen 4,2 4,2 !
Wtoro no kBaptupe 124 33,1 15,8 17,3
noaxus 4,7 2,4 |k=0,5
Utoro no 9 ataxy 593,2 329,6 263,6 75,2 38,4
UTtoro no kBapTupam 5326,0 | 2941,7 | 2384,3 676,8 | 345,6
| |
O6wme nomeLleHNA goma
noas 1 nomeLyeHne 18,7
2 nomMeLleHne 16,5
3 nomeLyeHue 25,3
4 nomMeLleHne 16,6
5 nomeLyeHue 16,5
6 rnomelleHmne 24,8
7 nomeLyeHne 16,5
8 rnomelleHmne 16,5
9 nomeLyeHue 9,1
10 nomMeLleHne 16,5
11 nomeLyeHne 24,9
12 nomMeLleHne 16,5
13 nomeLleHne 16,5
14 nomMeLleHne 25,3
15 nomeLleHne 16,5
16 nomeLleHue 16,6
17 nomeLeHne 16,5
18 nomeLleHue 16,5
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19 rnomelleHne 16,5
20 nomeLyeHne 18,7
21 rnomelleHne 16,6
22 nometleHne 16,5
23 UTM 25,3
24 nometleHne 16,6
25 rnomelleHne 22,3
26 KYWH 2,6
27 rnomelleHne 16,5
28 nometleHne 16,5
29 HacocHas 9,1
30 nometleHne 16,6
31 rnomelleHne 24,9
32 nomelleHmne 16,6
33 rnomelleHne 16,5
34 nomeLleHne 25,3
35 rnomelleHne 16,6
36 nomMetleHne 16,6
37 nomeLleHune 16,5
38 nomMetleHne 16,4
39 rnomelleHne 16,4
WUToro : 685,9
O6ume Tambypbl U KOPUAOPDI:
1 1 Tambyp 3,4
2 Tambyp 9,4
3 Kopuaop 6,2
4 Kopuaop 5,3
5 Kopuaop 6,3
6 Kopugop 8,5
7 Tambyp 3,4
8 Tambyp 9,4
9 Kopuaop 6,3
10 Kopuaop 5,3
11 Kopugop 6,2
12 Kopuaop 8,6
13 Tambyp 2,4
14 | anekTpowmToBas 5.3
2 1 Kopuaop 5,3
2 Kopuoop 6,3
3 Kopuaop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopvaop 8,6
7 Kopugop 6,2
8 Kopvaop 5,3
3 1 Kopuaop 5,3
2 Kopuoop 6,3
3 Kopuaop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopugop 6,2
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8 Kopugop 5,3
4 1 Kopugop 5,3
2 Kopugop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopugop 6,2
8 Kopugop 5,3
5 1 Kopuaop 5,3
2 Kopugop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopvaop 6,2
8 Kopugop 5,3
6 1 Kopugop 5,3
2 Kopugop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopuaop 6,2
8 Kopugop 5,3
7 1 Kopugop 5,3
2 Kopungop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopugop 6,2
8 Kopugop 5,3
8 1 Kopugop 5,3
2 Kopugop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopugop 6,2
6 Kopugop 8,6
7 Kopugop 6,2
8 Kopugop 5,3
9 1 Kopugop 5,3
2 Kopugop 6,3
3 Kopugop 6,3
4 Kopugop 8,5
5 Kopuaop 6,2
6 Kopugop 8,6
7 Kopuoop 6,2
8 Kopugop 5,3
Utoro : 507,6
I | [ |
MallMHHbIe OTAEeNneHUsA
1 nomMelLueHne 14,5
2 nomeLeHne 11,8
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3 nomeLleHne 14,5
4 nometleHne 11,8
WUtoro : 52,6
nudgThbl
1 nnepT 4,7
2 T 4,7
WUToro : 9,4
JNlectH. kneTtka | :
1 NEeCTH. KneTka 13,2
2 NECTH. KneTka 26,1
3 NEeCTH. KneTka 26,1
4 NEecTH. KneTka 26,1
5 NEeCTH. KneTka 26,1
6 NEeCTH. KneTka 26,1
7 JNECTH. KneTka 26,1
8 NEeCTH. KneTka 26,1
9 NEeCTH. KneTka 26,1
WUTOro no necrt. knetke |: 222,0
NectH. kneTtka Il :
1 NEeCTH. KneTka 13,2
2 NECTH. KneTka 26,1
3 NEeCTH. KneTka 26,1
4 NEeCTH. KneTka 26,1
5 NEeCTH. KneTka 26,1
6 NEeCTH. KneTka 26,1
7 NECTH. KneTka 26,1
8 NEeCTH. KneTka 26,1
9 NEeCTH. KneTka 26,1
uToro no necrt. knetke ll: 222,0
WUTOro Mo NEeCTH. KneTkam 4440
WUTOro No o6LWMM NoOMeLLeHMAM goma 1699,5




